
Modular Work Centers
Metal Storage Shelf (D-9021 & D-9021A)

*Do not discard packaging material until all contents are located*

TM

Equipment & Supplies, Inc.

300 S. Lageschulte St.

Barrington, IL 60010

Phone: 847.382.1579 Fax: 847.382.1615

E-mail: info@dehnco.com

*Do not discard packaging material until all contents are located*

TM

Equipment & Supplies, Inc.

300 S. Lageschulte St.

Barrington, IL 60010

Phone: 847.382.1579 Fax: 847.382.1615

E-mail: info@dehnco.com

CALSTONE INC - 020107

Modular Work Centers
Cantilever Arm Bracket & Light Mounting Channel (D-9035 & D-9036)

CALSTONE INC - 020107

Component Parts:

1 - Storage Shelf

Metal Storage Shelf Assembly:

1. Set lower shelf with formed edges down, on

cross bar of leg frame.

2. Extended formed edges at either end of shelf

should be secure on outside of leg cross bar.

Storage Shelf

Leg Frame

Table Top

(Inspected by)

Cantilever Arm Bracket Assembly:

1. Assemble Cantilever Arm Brackets to up-

rights with 5/16-18 x 2-1/4 Hex Head Cap

Screws and Nuts.

Light Mounting Channel Assembly:

1. Slide light mounting channel on to Cantilever

Arm Brackets.

2. Fasten with 5/16-18 x 2-1/4 Hex Head Cap

Screws and Nuts.

Table

Cantilever Arm
Bracket (D-9035)

Hex Nut

Hex Bolt

Light Mounting
Channel (D-9036)

Table Upright

(Inspected by)

(Inspected by)

Component Parts (D-9035):

2 - Cantilever Arm Brackets

2 - 5/16-18 x 2-1/4 Hex Head Cap Screws

2 - 5/16-18 Hex Nuts

Component Parts (D-9036):

1 - Light Mounting Channel

2 - 5/16-18 x 2-1/4 Hex Head Cap Screws

2 - 5/16-18 Hex Nuts

10 23


